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qm=;+= ljj/)f j*f g+= ah]^

1 3+3? xf+u'jf u|fld0f ;8s 1 300

2 k~rsGof cfbz{ ;8s 1,3 500

3 Hofld/] cv'jf lqj]0fL u|f=;= 1,2 600

4 k~rsGof a]N6f/ efn' vf]nf u|f=;= 3,7 400

5 ;"s] cfxfn dflDkm+u vf]s" u|f=; 4,5,6 600

6 sfu'g] nnfxf]ª nnxfgL ;8s 2 500

7 b]ljyfg 5kf}nL u|f=;= 2,3 400

8 ;]tLrf}s xf+u'jf ;+ljwfg;ef rf}s u|f=;= 1 300

9 ;'s] cfxfn kf]Snf 7'nf] ufpF rfDrf u|f=;= 6,7 400

10 d+;'jf6f/ s/f]h] l5Gtfª vf]nf u|f=;= 4,2 400

11 sGofb]lj rf]ª/f]ª k~rsGof u|fld0f ;8s 3,4 400

12 lsofKvf u|f=;= 5 300

13 ;]tLrf}s l;/jfgL ltq] u|f=;= 1,3 400

14 3ltlg{ af/L u}/L rfDrf afhsg]{ u|f=;= 6,7 1000

15 kfªgfd n];L/fª xf+u'jf u|f=;= 1,2 400

16 cGo ;8s lgdf{0f 2400

17 slG6Gh]G;L, dd{t sf]if, ljkb sf]if 700

10000


